Day 5 HW KEY

Thursday, April 23, 2015 1:14 PM

Hyper. Page 1



Precalculus
Conic Section - Hyperbolas Day 1
Worksheet #4

Name: kcy

Period:

Directions: (#1-6) find the vertices, foci, axes, and slopes of asymptotes and sketch a graph for each.
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1. 4236925 %— - X2 -1 (upidown)
Vertices: (0) 3) . (0,-3) tb=23
Foci: (0, {T3) \I"') E= J_-r— =Ji3
b _32
Slope of Asymptotes: * 2 m=2g=72
Length of Transverse Axis: b 2(3)

Length of Conjugate Axis: 4+ 2(2)
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3. 4(x-1)—(y-2) +1=5 = (x-*_ (4=2)*_ 4 4,
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Vertices:_(0,2) , (2,2) (L&f‘f‘/ﬂght)
Foci: (l 'Js; 2), (' + \,’512) CenteRi ("2)
Slope of Asymptotes: iz_m-.-. t ‘%
Length of Transverse Axis: 2 2( ')
Length of Conjugate Axis: 4 2(2)
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4z . =1 (1eft/rignt)

lo
Vertices: _ (4,0) (-4, °)
Foci:(492,0) , (-42,0) F=JTl6+16
_1. 2
Slope of Asymptotes: L m=214 : 1

Length of Transverse Axis: % 2(4)

Length of Conjugate Axis: g 2(4)
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(y+3) —-16(x— 2) =16 = (!11-3)2 (x - 2)2
|

Vertices: (2) D) (2 7) (uP/dow")
Foci: (2,-3 fm) (2,'3 '\fﬁ) CenteR: (2,’3)
Slope of Asymptotes: t4 m=2z L4
Length of Transverse Axis: z 2( q)
Length of Conjugate Axis: 2 2(n
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(y—4) _x_zzl upldown (c¢nt8l':(ol4')) 6 (x=D* »

5. . =1 Left/vight  center: (I, 0)
4 36 25 12
vertices:(0, & ) ,_(0, 2) Vertices: (-4, 0) , ((9) 0)
Foci: (0, '1'2\"’0). (0,4- 2\,76) Foci: (-41431,0), (-4-I%1, 0)
L 2 3.5
Slope of Asymptotes: 3 m=1 = ‘; Slope of Asymptotes: x 5 m=2 %’: :1’5‘l§
Length of Transverse Axis: 4 2( 2) Length of Transverse Axis: 10 2(3)
Length of Conjugate Axis: 12 2(6) Length of Conjugate Axis: 2\“-7- 2 (J'I?.)
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(#7-8) Eliminate the parameter: | + tan?t =Sec*t = | = Sec?*t —tan?*t

x=3sect —> %:Sgct 8 x=-2+3tant — tant= X+2

" y=Ttant T y=4+Tsect 3
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'g' bart Sect=y -4
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